Day 06_Section 3_Test Review.notebook September 16, 2021

Curriculum Outcome

N1: Demonstrate an understanding of rational
numbers by: comparing and ordering rational
numbers; solving problems that involve arithmetic
operations on rational numbers.

Student Friendly:
“BEDMAS with fractions and decimals"
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10x3-65+10-13 1=-13=3
28.05 251 101
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10x3-060=+10-13

3y - 6.6: 10 -13
—

2Q- 0.65 - I3

= 28.05
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Hints for TEST:

Subtracting a Negative

-add the opposite -8-(-5)
=-8+5H

=-3

To add and subtract fractions you need common denominators

1) 1.5 2) o1 32
4 7 3 5
_ 7,20 _ L _u
28 28 3 5
_ 13 _ =35 _ 51
B 28 15 15
= -86
15
***ALWAYS REDUCE 11
WHEN POSSIBLE*** = -5 =

15
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Hints for TEST:

To Multiply fractions: top x top
lzcoj A:l;\);‘f\l:se bottom x bottom
3 5 3 5
- (Ax6) g 7 12
= plify - — = -
(3x 5) 3 X5 Simelfy
_ (_1 X 2) = 7 x-4

|
N
]

|
N
(00]

Question was in mixed so
answer should be in mixed

**x ALWAYS REDUCE 5 3
WHEN POSSIBLE*** 5
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To DIVIDING fractions:

FLIP AND MULTIPLY
D 2,3 2) sl g2
N i 43 prp
2 10 _ 21,5
-7 X3 4 3
Tl simplify if simplify if
- (-2 x10) possible _ 21 y -3 possible
(7 x 3) 4" 5
- =20 = (21 X -3)
! (4 x 5)
= =63
20

Question was in mixed so

answer should be in mixed
**x ALWAYS REDUCE 3 3
WHEN POSSIBLE*** 20
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Hints for TEST:

*as they appear* Example

BEDMAS (£)+C2)
rox ioud g 2\2, (10,12
2P 9 - ()= ()
>
ceap a| =(3)*E)
t n e | C
t y ¢

]
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(3.2 + 4.5 - (-2.8 - 5.3)
[(1.5) x 3.2] + [4.5 + (0.9)]

Top: Bottom:
(3.2 +4.57 - (-2.8-5.3) [(1.5) x 3.2] + [4.5+ (0.9)]
(7.7 -(-8.1) [4.8]+[5]
TOQ =
Bottom 0.8
= 6.9

10
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Page 144 & 145

Worksheets

N

KCIass / Homework\

_/

11
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